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oops. you tell me.

y=x-3 2+2

minimum at (2,-11)
Maximum at (-3,21)

1222 units

f(-3) =95
+1,+5,¢5/4,+5/2, touches
All real numbers x z 3, -1
All real numbers x # 2/3

. VA x=0,x=6

. VA x=6,x=-1

. no horizontal asymptote
. HA y=0

. HA. y=2/3

. SA y=x+2

. S.A y=x+5

. No Slant Asymptote

. $13,116.51

. $9577.15

$8,345.81

. -1
. 1/2
.23

2

. I love math

log 1000 + 3logx - log amen

3Inx + 1/2In(x* + 1) - 2lnx + 3Iny + 4Inz

log 100 + 3logx + 1/5log(x-5) - log3 +
2log(x + 7)

x(x%-4)(x+2)
15
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no thank you!
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